
𝐗𝒏

𝑷(𝐗) = 𝒏𝑪𝐗 𝒑
𝐗 𝒒𝒏−𝐗 =

𝒏!

(𝒏 − 𝐗)! 𝐗!
𝒑𝐗𝒒𝒏−𝐗

𝒑 𝒒

𝟕 

                                               𝝁 = 𝒏𝒑 

𝝈𝟐 = 𝒏𝒑𝒒 

𝝈 = √𝝈𝟐 = √𝒏𝒑𝒒

𝟖𝟗%

𝟓

𝒏 = 𝟓 , 𝒑 = 𝟎. 𝟖𝟗 , 𝒒 = 𝟎. 𝟏𝟏

    

𝑷(𝟕) = 𝟏𝟎𝑪𝟕 𝒑
𝟕 𝒒𝟏𝟎−𝟕

𝑷(𝟕) = 𝟏𝟎𝑪𝟕 (
𝟏

𝟒
)
𝟕

 (
𝟑

𝟒
)
𝟑

𝑷(𝟕) = 𝟎. 𝟎𝟎𝟑 

 

𝒏 = 𝟏𝟎 , 𝒑 =
𝟏

𝟒
 , 𝒒 =

𝟑

𝟒
 , 𝐗 = 𝟕

𝑷(𝐗) = 𝒏𝑪𝐗 𝒑
𝐗 𝒒𝒏−𝐗

 

 

 

𝝁 = 𝒏𝒑

𝝁 = (𝟓)(𝟎. 𝟖𝟗)

𝝁 ≈ 𝟒. 𝟒𝟓 

𝝈𝟐 = 𝒏𝒑𝒒

𝝈𝟐 = (𝟓)(𝟎. 𝟖𝟗)(𝟎. 𝟏𝟏)

𝝈𝟐 ≈ 𝟎. 𝟒𝟗 

𝝈 = √𝝈𝟐

𝝈 = √𝟎. 𝟒𝟗

𝝈 ≈ 𝟎. 𝟕 
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